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The following 7 (Seven) items consist of two

gtatements,
Examine these two
select the correct
given below :

Code :

Statement I and

Statement T1
statements carefully and
answer using the code

(a) DBoth the statements arc individually
true and Statement II is the correct
explanation of Statement I

(b) Both the statements are individually

true but Statement II is NOT the -

correct explanation of Statement I

(c) Statement I is true but Statement II

is false

(d) Statement
is true

1. Statement I :

Statement 11 :

2. Statement I :

Statement II :

I is false but Statement II

Plantation farming has
mostly been practiced in
humid tropics

The soil of humid tropics
is highly fertile

Chameleon changes. its
skin colour to match with
the colour’ of" " the
surroundings

The skin of chameleon
emits light of the colour
of the surrounding through

fluorescence

3. Statement I :

Occasionally we see two
rainbows together, the
primary rainbow with
another less intense
secondary rainbow about
10 degrees away

Statement 1I :

4. Statement I :

Statement IL :

S, . Statement 1 :

Statement 1II :

6. Statement I :

Statement II :

 large

The secondary rainbow
appears due to refraction
after a reflection of
sunlight from the water
droplets

Nationalism in India, which
was assigned a privileged
position by its western
educated political leader-
ship, was a ‘different’, but
a’ ‘derivative discourse’
from the west

Indian nationalism as a
response  to  western
imperialism was ‘like all
such responses, shaped by
what it was responding
to’

The British legal scholars
relied on Indian Pandits and
Maulavis for understanding
of canons of authoritative
texts

British codified the Hindu
Laws in 1783 and the
Muslim Laws in 1785

Dadabhai Naoroji argued
that what was being
drained out was ‘potential
surplus’ that could generate
more economic develop-
ment in India if invested
in India

Imperialists believed that
India was brought into the
capitalist ~ world
market and that was in
itself a progress towards
modernization
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7. Statement I : The Man Booker Inter-

national Prize 1S now
unlikely to be won by an
English author

Statement II : The Booker Prize Founda-
tion announced that the
Man Raoker Infernational
Prize was to evolve from
2016 onwards into a prize
for fiction in translation

. Which one of the following statements
about Pradhan Mantri Ujjwala Yojana is
NOT correct ?

(a) It is a social welfare scheme to
provide LPG connections in BPL
households

(b) The scheme was launched in the
year 2015

(c) The Government has set a target of
5 crores LPG connections under the
Yojana

(d) The objective of the scheme is to
safeguard the health of women

and children by providing them
with clean cooking fuel

. Which one of the following portals was
launched on the 250th anniversary of
Survey of India ?

(a) ServicePlus
(b) DigiMap
(¢) Udaan

(d) Nakshe

10. Which one of the following countries has

147

12.

13.

been ranked as the least corrupt country
in the Corruption Perception Index 2016
released by Transparency International ?

(a) Denmark

(b) Sweden

(¢) Switzerland

(d) Norway

The Central Vigilance Commission was
set up on the recommendation of

(a) (First Administrative Reforms Com-
~ mission

(b)  Gorwala Committee
(¢) Kripalani Committee

(d) Santhanam Committee

The Ninth Schedule was added to the
Constitution of India by the

(a) Fourteenth Amendment
(b) First Amendment
(c) Ninety-Third Amendment

(d) Ninety-Ninth Amendment

Which one of the following cases in the
Supreme Court of India dealt with the
issue of ‘creamy layer’ among the
backward classes ? :

(a) K M Nanavati vs. State of Bombay
(b) Indra Sawhney vs. Union of India
(¢) Madhu Limaye vs. Ved Murti

(d) Sajjan Singh vs. State of Punjab
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fore frsm & aR & frafafea & & S
FIT TEl A&l © ?

(a) W= 1942 #, forwr 7 aR SHfeme &t
T HETGT ENOT (STFE SFRUT) TR
HeAd eiF o fog it fera

SATERAT  Ae® q9T §CR 9od o
e o T s & forw, e
ufefeiée feman

gg & uvarq fee A Sifufome gt
geaferd ferar

g3 & 9LaTq HeH } wiaem fowfor-
forerma &1 e wearfaa e

(b)

(d

TATRTEG & |y & IR A e & @
FIT | HAT Tel TEl ¢ ?

(a) TR AW 1765 ¥, TEER fordt T &

(b) HIE WHTE A Teh A & GRT 56
Sfean Ut i s, foer ok SemET
1 T SioETRes ®9 # Srgew el

(c) 50 9@ T9F & WA U 3 ZHh
|aTe @t fter fear wan

(d) SARE TAT ATEIT HT FAHT e o
STERT ST QTE 3T 11 Sl |19 fear Tram

freforfaa & & = |, men-sfa aastar

T IUEY FEt g7 ?

(a) WfETT SIFRT G & GHl ToIaH
HfGAT A THT Tk HAT

(b) R o [T K0T ST TR A & ferg
A 1931 & @UHAtar & @e 2 H
‘STRETUT qAT IENAET ) RTINS
feram T

)

17.

18.

19.

(c) T &Il H Ueet A B A=Y WY STeq
STHIT AT AT

(d) erife =mt & fog 18 wfdea et &
3TTRETOT

FAT-Hiled 00 Ho&y 2017 & foo
ﬁmﬁ%amﬁ@%awﬁgﬁm

TRERR ST ?

(a) T Meelhra

(b) Sl T Wr=e Al derte |
(c) & foromzsR

(@) g sieTTSE W

feferiea 3 & o, ST T g A
Rl & TORAT /TSRt & 2

(a) SEIYA &l

(b) e ¥

(c) ISEA IS Ge&aT 37

(d) WRAE 3 &1 A 99

US sgafa § 2017 & w90id 85 & T
SR &BF 8 US i Fiat & fau
AMYITET AU W wEAER fRAT R
feffea & @ s@ W w ~fRa
Fifsra

(a) uREr-Gfifhes seaife SrsmaReE
(APEC)

zra fafthes aréeRf (TPP)

i o8 Wise % fo ufdmr Sffee
(ETAAP)

KISTeTer SRR s R
(RCEP)

(b)
(©)

(d)
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Which one of the following statements
aboul Cripps Mission is NOT correct ?

(a) In March 1942, Cripps persuaded
War Cabinet to agree to a draft
declaration

(b) Jawaharlal Nehru and Sardar Patel
- represented Congress to negotiate
with the mission

(c) The mission offered Dominion
status after the war

(d) The mission offered formation of
constitution making body after the
war

Which one of the following statements
about the Treaty of Allahabad is NOT
correct ?

(a) It was signed in the year 1765

(b) The Mughal Emperor by a farman
formally granted the Diwani of
Bengal, Bihar and Orissa to the
East India Company

(c) Awadh was restored to its Nawab
on payment of Rs. 50 Lakhs

(d) Banaras and the Surrounding tracts
were detached from Awadh and
handed over to Shah Alam II

Which among the following was NOT
the provision of the Gandhi-Irwin pact ?

(a) Immediate release of all political
prisoners of the Civil Disobedience
Movement

(b) Clause 2 of the March 1931 pact
defined ‘reservations and safe-
guards’ to cover financial credit of
India

17k

18.

19.

(c) The return of confiscated land

alrcady sold to third parties
(d) Reservation of 18 per cent seats

for Depressed classes

Which one of the following novels won .
the Pulitzer Prize for the year 2017 in
the Fiction category ?

(a) The Goldfinch
(b) ;All the Light We Cannot See
(c) The Sympathizer

(d) The Underground Railroad

Which one of the following does NOT

pass through the Kaziranga National
Park ?

(a) The Brahmaputra river
(b) The Diphlu river
(¢) National Highway No. 37

(d) Railway track of Indian Railway

The US President in 2017 has signed an
executive order for US withdrawal from
a trade organization of the Pacific
region. Identify the organization from
among the following :

(a) Asia-Pacific Economic Cooperation
(APEC)

(b) Trans-Pacific Partnership (TPP)

(c) Free-Trade Agreement of the Asia-
Pacific (FTAAP)

(d) Regional Comprehensive Economic
Partnership (RCEP)
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frfafaa sifafafat & @ forg = & 7=
gy it T © fh wra & d@fam %
AT 111 & ol Y S § HMe e hl
% Tith TEG I TEL © ?

(a) HYATTE HRAT ST € 3AH e
(b) MeTH TF FAH T A G

(c) FUHH RIS s T 3TF FEH
(d) foaf faem fafiee s9mm wRa R

freferfaa Aamet @ @ @i, o e AT
T FYRIT ¥ Haig © ?

(a) SI. s, HOT
(b) STIUHRTI ARTICT
(c) =T TR o
(d) fomrem =

frfafag & @ o9, a5 @fFam &
DT 263 F A SHR-I5T URwg Y
TITYAT A o foIT g9k & ?

(a) ®EG

(b) wPmReg

(c) T T st

(d) WA T g <AL
frafofas & & a7 &, Jee Rt &
SRTET &L AT 2

(a) =iffee gt

(b) aE T Hee

 (c) UHTHS qUT A g

(d) UEH ATIERR
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24.

25.

26.

1859 < il fogie & oIR & feferfaa & &

ShIF T HIT Tl © ?

(2) e I SR STEHGHR H & gl

(b) TB HEHRT Frleigd o forag w=fod

(c) =TI o SIfgSHfeat =& sgre fear o

(d) T© B SHIGRT Q&1 SR HIfeTeht &
U= FHATRAT oh g @aTerd AT

HRA ¥ SFCIIAT HT IHAT Hd & g

1823 #Heapm g fmfafaa & & &=

T/ WlehT THew So@T T /IS T

91 /9 ?

1.gant fegsnt o frféra s aik 97
S ST IR R &g TaT |

2. IEYT hl AT & IR F ‘I
&1 farfera e & wamw |

3. ‘sEwt % fou #@fd & gRi W@
SeTYEh @I |

4. sEgyran ot fafifreg =it A aw
T AT T GLHR HT ATHIRT ST |

G O e A ol O M 4

iR |

(a) Faa

) 13K 2

(c) 2,3 3R 4

(d) Had 4

feferiaa o & 1 €1 T 76T 1960 <0 iy
STet fer & sref wEt At @ ?

(a) e
(b)
(c) it
@ =@
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Which one of the following judgments
declared that the Parliament has NO
power to amend any of the provisions of
Part III of the Constitution of India ?

(a) Kesavananda Bharati vs. State of
Kerala

(b) Golak Nath vs. State of Punjab

(c) Champakam Dorairajan vs. State of
Madras

(d) Minerva Mills Ltd. vs. Government
of India

Who among the following leaders s
associated with the concept of party less
democracy ?

(a) J B Kripalani

(b) Jayprakash Narayan

(c) Acharya Narendra Dev
(d) Vinoba Bhave

Who among the following is empowered
to establish Inter State Council under

Article 263 of the Constitution of India ?

(a) Parliament

(b) Council of Ministers

(c) President of India

(d) Chief Justice of India

Which among the' following was NOT

the recommendation. of the Nehru
Report ?

(a) Dominion Status
(b) Separate Electorate
(¢) Unitary and Democratic Centre

(d) Adult Suffrage

24.

25.

26.

Which one of the following statements
about the Indigo Revolt of 1859 is
correct ?

(@) It broke out at
Ahmadnagar

Poona and

(b) It was directed against moneylenders

(c) It was supported by the intelligentsia
of Bengal

(d) It was directed against the petty
Zamindars and ex-employees of the
planters

Which of the following active step(s)
was/were taken by the Congress in 1823
to eradicate untouchability from India ?

1. Effort to educate and mobilize
opinion among caste Hindus

2. Efforts to educate the ‘avarnas’
about the evils of untouchability

3. Forcibly open the doors of temples

for ‘avarnas’

4. Petition the Government to pass
laws that would declare untouch-
ability unlawful

Select the correct answer using the code
given below :

(a) 1 only

(b) 1 and 2
(c) 2, 3 and 4
(d) 4 only

Which one of the following is NOT a
river covered under the Indus Water
Treaty 1960 ?

(a) Ravi
(b) Chenab
(c) Teesta
(d) Beas
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yTew fefafaa # 9 o5 vem fear
27

(a) THT g BIfRT 3R ISR YRS
(b) TS IR, foha wH. AT+ TR TR arEd

(c) SIA® Uaehl, Trgg IR 3R

ShHET 9%l

(d) . AT ShiEeRfeTas], T Bleed 3R

e 3. g
7% 2017 o forg ferferfaa v & @ forar
TSl ATEST WeT foRam T 2
(a) W9 TE =
(b) Fa® B
(c) TH. 3R, sifam Fe=
(d) Tgg am=ed
freafafea fagmt & @ feae, TRG
gfauE o ‘dieRied S & ®9 H
IaeTia forar g ?
(a) TH. . Ut
(b) SISl g
(c) ITEle aAttee
(d) gAY H¥gq
frafafes #/® =R @ /3 FI9 9@
g/8 7

1. 9RA < "iEEH &1 Fg=sg 15 AR
& AnTRent qur faefsmi, @t i
ITAE ¢ |
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2. MRA & WAGT H1 =g 16 Had
WA & ARTRERT ! ITAH € |

3, R % A& A AF=6 21 HRA
Toes W, WRA o AANTRRI qoT
faefmt, 2t @ uE 'Y @ Suew
2 |

e G g FUFER AR FEl SR

(Oiml, 2 3 3

R < GAgHE & =98 14 5 HE
gyr-vfgssua oty & wwe wwear an
ferferart o g™ G=eor & @y, fmfofaa &
& ford /feree o &t TR € 7

1. 9RA | @A a9l WRAE AT
call

2. fresnt # Tea ared g9 HIRA T ARTIRERT
el

3, YR & TS & 3FeX @A A
ferefamt =t

4. RA § SR THT TETRERT

T feo ™ Fe w1 W@ W FE SW
(a) had 1 3R 2

(b) 1,2 3R 3

(¢) a1 3R 3

d 4
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Who among the following are awarded
willt (e Special Bieaktluough Prize in
Fundamental Physics for the year 2017 ?

(a) Stephen W Hawking and Roger
Penrose

(b) Ronald Drever, Kip S Thorne and

Raimmer Weiss

(c)

Joseph Polchinski, Andrew
Strominger and Cumrun Vafa

(d J Michael Kosterlitz, Duncan
Haldane and David J Thouless

Who among the following Mathematician
is the recipient of the Abel Prize for the
year 2017 ?

(a) John F Nash
(b) Yves Meyer
(¢) SR Srinivasa Varadhan

(d) Andrew Wiles

Who among the following scholars has
conceptualized the Constitution of India
as a ‘seamless web’ ?

(a) MV Pylee
(b) ‘DD Basu
(¢) Granville Austin

(d) Subhash Kashyap

Which of the following statements is/are

1. Article 15 of the Constitution of

India is available to both citizens of

India and the foreigners

11

31.

2. Article 16 of the Constitution of
India i3 available to the citizens of
India only

3. Article 21 of the Constitution of
India is available to both citizens of
India and the foreigners alike within
the territory of India

Select the correct answer using the code
given below :

(2)

(b) 2 and 3 only

1. only

(¢) 3.only

(d) ™1, 2 and 3

Who among the following are entitled to
get the benefits of equality before the
law and the equal protection of the laws
as enshrined under Article 14 of the
Constitution of India ?

1. All Indian citizens living in India
2. All Indian citizens living abroad

3. Foreigners living within the territory
of India

4. All citizens born in India

Select the correct answer using the code
given below :

(a) 1 and 2 only

(b) 1,2 and*3
(¢) 1 and 3 only
d 4
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1835 < 3msit farem srferfeas & ek

 fwafafea 7 & @19 &1 Foe a2 T8 ¢ ?

33.

34.

'(a) T8 Hhld T Gdle R TEAR ST

ferfermm dfés err wearfaa fomam @
oqT

(b) ZEA 3US 1 WRAE frem wored &
fSreror < e =@

(c) foremr <Y wwr & &9 A ST F
MRS ORI & & &l
ARa T f3rer # v 72 feem it s
IR B 4L |

(@ e urr geamEt & foo, fernfat
ST 7 FITRTT ST TAT U= 5= AT
T WERI, STRI X@T ST o7

frrfafaa # @ foe ToEa A fosmr

TS o SMfERISTeT & refe e forar 2

(a) W, €A, JgF q9T SR

(b) W, BEEH, IFRI(AG AT T

(c) BIEEd, g9, TIRR qAT T

(d) <Rk & aga, eEad, g qan
swfeg

afafie srferaen & arE fafafaa

T q i AT HAT gl qE g 7

(a) forfesr & wisEt |oge Gsiiarg &
3T ST

(b) ST & 230 YSIETE Rl Afsha &9 F
EHEIREG!

(c) IHT R H, o WEfeh THITHR
(SeTEe FefFed Wiet)” TeE Ted
AT 4T AR 3§ AT el

(@ I & famio @ uea siea & Wi
TGSl H YA AT ST o
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e TR & s # fo=fafaq & @
i |1 /T HI9 el B /% 7

|. 9 ATMde ® Sl Tw A,
SUATHGRR qAT STl JeTeh AGehT & |

2. Ik HIATHb SIATH ‘%ﬂ.a =
& & 0 99 2015 F feg
IREHR T RT |

3. ‘A g Rex &’ Frm YdreAT sera
Y T EwoT A |

A fed e w1 T R §El S
i

(a)aw_clﬁl

(b) a2 3R 3

(© Fad 1 3R 3

@ 1,233

Sy aieadd fawges e aueitar &

aR # fr=fafed soe & @ a9 @1 a6t

E © ?

(a) =T TH D W 190 | feres 2 A
geaer f5a € (7 2017 6 ferfa)

(b) e THIAAT 4 TaF= 2016 HT YHE |
e

(c) snfaa I faefia sisem (3w
Aymert feefife @rdlsam, INDC),
1@ 2015 & Sreramg yREds awies &
gl foram wrm am, it 9| awEtiar
# yeareia foar

(d) USA ag1 =9 <, 9Re awzitar #
NEERY
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Which one of the following statements
about the English Education Act of 1835
is NOT correct ?

(a) It was proposed by Governor
General William Bentinck on the
advice of Macaulay

(b) - It made English the language of
instruction in Indian cducation
system

With the formal institutionalization of
English as the language of instruc-
tion, the stage was set for a new
direction to Indian education

(d) To the existing Oriental Institutions
fresh awards of stipends to students
and the publication of classical texts
were to continue

(©)

Which one of the following dynasties
ruled under the suzerainty of Kingdom of
Vijayanagar ?

(a) Sangamas, Saluvas, Tuluvas and
Aravidus

Sangamas, Hoysalas, Aravidus,and
Tuluvas

(b)
(©)

Hoysalas,
Sangamas

Saluvas, Poligars and
(d) Yadavas of Devagiri, Hoysalas,
Saluvas and Aravidus

Which one of the following statements

about the Colonial economy is NOT

correct ?

(a) The British ~presence inhibited
indigenous capitalism

(b) Laissez-faire actively promoted
indigenous capitalism

(¢) The ‘white collective monopoly’

came earliest and remained most

pronounced in Eastern India

The Bombay hinterland was difficult
to penetrate before the construction
of railways

(d)

13
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Which of the following statement(s)
about [asterine Kire is/are correct ?

1. Born in Nagaland, she is a poet,
novelist and children’s book writer

2. She is the recipient of the Hindu
Prize for.the year 2015 for her
poetic movel “When the River
Sleeps’

3. “When the River Sleeps’ was an
exploration of the Naga spirit

universe

Select the correct answer using the code
given below :

(@). 1 only
(b) 2 and 3 only
(©)

(d)

1 and 3 only

I, 2 and. 3

Which of the following statements about
the Paris Agreement on Climate Change
is NOT correct ?

(a) The agreement has been signed by
more. than 190 countries (as of
March 2017)

(b) The agreement went into effect on

4 November 2016

The Intended Nationally Determined
Contribution (INDC) pledged during
the 2015 Climate Change Confer-
ence has been withdrawn in the
Paris Agreement

(c)

(d) Both USA and China joined the

Paris Agreement

A — U-GIA-JBOS
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e AR o fohe fomal TR ®, St
it & o 64 9 T e EER

(2017) o TS ST GRERR < for AT -

T ?

(2) ARH we
(b) T STETAT
(c) R TEcE.

d) TRk

ARG & AU & SUsFHl & IR 9,
frrfofaa § 9 9 91 Fua @er g ?

(a) 3qdEIh-av Ut & G faem
TEaRi hl TAIAT 3R WSTEe
(=ITerT) R Hehd €

(b) 3I=PE 30 & IH had HIWTE,
JomcE SR anfifen  rouRieahl ol
Iear@ o T B

(c) WU EMfHen TUGTH hi &Tfeh 3R Iet

AT o forg Feematt < e g

AR SR SREW SR @l SRieh
FrfeRR ®

(@) T enfer sreaaens =t gRr w41fua

1S farer geen TR & ol demar

UTH B9 U 39T FeqEeds ol @l

iR

fraforfaa g /@t & & &9 a1 /3 el
gafa 2/ 7
1. A KT :  SEH T T8 (e
fozm 5 srre = & fo
3R femam S
T ©
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2. Yh AqQId :

AT T T A
& fog oifm srem
3. e : faxig Ay & gre

A= e T g @ W W el W
I

(a) a1
(b) 13 2
(c) 2 3RA3
() ST H | F1E T

¥ 2016 FN TEERS ek IRERR
frefarfaa # @ 5 ww gam © ?

(a) . fagammy
(b) STfr FE

(c) TR

(d) ¥ FAR

fofrfed 7 3 fress N, WA & R
Aredt st e P 7e g FT T ?

(a) fcwsfica e 1861

(b) YR THR 3rfirfea (g Tawse 3
=feam UFe) 1858

(c) nﬁﬁz’tgm
(d) W AFFRE GUR
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Akshay Kumar was chosen for the best
actor award for the 64th National Film
Awards (2017) for his role in the Hindi
film

(a) Mukti Bhawan
(b) Moaom Shabana

(¢) Rustom

) Aitlif

Which one of the following statements
about the provisions of the Constitution
of India is correct ?

(a) Minorities can establish -and
administer educational institutions of
their choice

(b) Only linguistic, ethnic and religious
minorities find mention < under
Article 30

(c) Every religious denomination has
unfettered right to establish and
maintain institutions for religious and

charitable purposes

An educational institution established
by a religious' minority loses its
minority status'on receiving financial
aid from the Government

d

Which of the 'following pair(s) is/are
correctly matched ?

1. Rule of lapse : Part of grant that
can be carried over

to next year

15

40.

41.

2. Supplementary : An advance grant to

grant meet expenditures
3. Vote on - Additional funds
account granted in the

course of financial
year

Select the correct.answer using the code
given below: :

(a) ‘1 only
(b) “1.and 2

() 2'and 3

(d) None of the above

Who among the following has won the
Dadasaheb Phalke award for the year
2016 ?

(a) K Viswanath
(b) Shashi Kapoor
Gulzar

(c)
(d)

. Manoj Kumar

Which one of the following had created
the office of the Secretary of State for
India ?

(a) The Councils Act 1861
(b) The Government of India Act 1858
(c¢) The Morley Minto Reforms

(d) Montague Chelmsford reforms

A - U-GIA-JBOS
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gEl 1 & gal [ 8 gifaq iy e
gt & = fed T we @ v e
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gl 1 AT 11
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A. BHA Fech 1. T SBel Hedad
B. SISTGATe mm
<groem o
2. G UHSIH 3T
C. Wiex StFae el Toded
AD 1192-1296
D Sliee 3. § ¥ T AT :
. 1000-1700
4. g HiHT 31T
arett fhfeae sfea
e @
Ave B @D
) e e
O3 e Ahgsins)
(O ucd LTS
(R AR e e )
AT 1w gE [ 8 gAfad g 3R

giwat & 9 f@ 1@ g w AT @
el JE AT :

A TR
(srferammdt) (enfa u=)
A. gHTEAT 1. FES o &Rt

=3
T s A3
2./ XSTEa =hl TETH
C. GETEALTT - Y s
DR GREIEIED] 3. RIYYTA
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%ha :
A B C D
G 4 3 1
(b) 2 3 -+ 1
() =%l 3 4 2
d 1 4 3 2

‘gHEERTT e SR ER gaifas Stua

&g ¥ fefafaa 7 & ferae siafifea @ 2

1. 7 fagE & v siftes asat & =
TR Feen o G=ieq & R A © |

2. AR XSAEEN BT R W@ g¢ fHg-=amdt

IS Tel o Teh a3
HiohaT © | {er

3. AT AN oh! THTET e 9Tl Afgaeh
SITEHT & aR | JASAEAAAT & R
e ot fafdse wxar 2 |

4, T RRST (gUTEeE) mEd
srrentedt gfee wfufea @ |

= o3 T He O AR OEE SR

3

(a) Fad 13K 4

(b) HIA 2 3R 3

(c) Fad 2, 3 3R 4

d 1,2 334

F 2017 & TegHT TAERE IRERR

(Mo Tamades Uest) & ©: fasrarsn §
T, fafafaa d a w8 2

(a) STEd 9TAT

“(b)  SHATEIST ITA

(c) WMot |
(d) grelTel FToN

Download More Papers From GovtJobsAlert.In


https://govtjobsalert.in/

42.

43.

Download More Papers From GovtJobsAlert.In

Match List I with List II and select the
correct answer using the code given
below the Lists :

List I List II
(Author) - (Book)
A. Herman Kulke 1. The Delhi
Sultanate :
B. Brajadulal A Political and
Chattopadhyaya ~ Military History

2. The Emergence of
Delhi Sultanate :
AD 1192-1296

C. Peter Jackson

D. Sunil Kumar
3. The State in India :

1000-1700

4. The Making of

Barly Medieval ;
India

Code :

A= BN EE T
(@) 1 3
(b) e 4 1 2
(c)f2 4 1 3
() 1 4 2

Match List I with List II and select the
correct answer using the code given
below the Lists :

List I List II
(Official) (Office held)
A. Samahartri 1. Chief of the

3 4 Palace Guards
B. Samnidhatri

2. Chief collector

C. Sansthadhyaksha of revenue

D. Antaravamshika

o8]

. Treasurer

4. Superintendent
of matkels

17
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Code :
A8 GEaD
(a) 2 4 4 1
(b)) 2 3 -+ 1
(@)l 3 4 2
@) &b 4 3 2
Which, of the following most suitably

captures, the meaning and essence of
‘globalization’ ?

1. It is about conducting external
relations. between two or more
States of the world

2; It is a process of coming together
of world-wide social relations
bypassing territories

3. It refers to thinking transterritorially
about global risks affecting people

4. It has a wishful vision of suprastate
governance

Select the correct answer using the code
given below :

(a)
(b) 2 and 3 only

1 and 4 only

(c) 2, 3 and 4 only
@ 1,2, 3 and 4
Who among the following is one of the

six winners of the Goldman Environ-
mental Prize, for the year 2017 ?

(a)
(b)
(c)
()

Jadav Payeng
Anadish Pal
Prafulla Samantra

Sunderlal Bahuguna
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IgH #T e venges fehafer faeama € 2
(a) SIHHEHR

(ORRIGACEI

(c) STEE AdH

(d) TR FHeATRR (FE srfeer)

TG ¥ A o IR BI o ferfrr ==oft o
el SR, Trfaiad § & i a1 &

T S F e

2. fawmit wfafaat gro =

3, forta faderes w1 Ui g

4. fafermmr fagae o1 aiia g
= R T T F W W GE TR
i

@Ul=2—a=
) Ii=iaas ey
(O yrnani iy
(@) A3t sl

frfafad ®# @ frm T o & GeR A

e -X5T GHT & AT & 7T TSR

gfufa & frgfe 6 g 2

(a) 3T TG WHR

(b) heleeh THR

(c) HERISE THR

() g THR

Trmforfaa & & 19 a1, 88 (1948)

T 3TfRrQsr om ?

(2) ISAT 3 < TRRT B, STETI AT

(b) T HEGT Sl foh =T K154 o7 Grvtom
HTSTE 3TTER UR feRAT ST HehelT ©

(c) F5-X54 HSILl o STETAT HAT

(d) T IV FTAT foh FAT AGTE TR 1
s ® sfa feram ST HehaT
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S

S2.

T HE! Aferd 78 © ?

(2) W : A i, S o
T I H ST ot

(b) #m o : fgiE TSEEE

(c) T . Tagm aun arfifte =k &
Arsifed g

(d) SIAR. . FESICRI &l Seieh od+ &
west 9 feom 9 T e
3TeleA

Trfafaa et & @ g = & ueet

TSR FET Aexrs (7 3eh) T T R 7

() veigTs fo 1 FHigeT

(b) Feac-JT-ZEAH AIEG

(c) WedTd STdsT hl HehaIkl

(d) 3TITE GRATST

frrafafaa & @ &9 @1 v @ A © 7
(a) SR TS SeATIEl Rgersil T Ueh Hat

T

(b) fmEes e & sl wehmEt
(fcra) =T ae =dmEAt < @t o)

o 39 feRet i sifereRrt & @, SHe
99 € Al R FW A T B

M1 o oy, gedaeR 7 o

eIt it FETfeTeh-3- 30K § HigH e
fom Qe & | TR womet @
EREFARRCIRC LD

HI il 7 Gfeor ARa | qfohiia
Y ThT ATfeeehl (Tef fReRY) & &R
H JeoiE el forar 2
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(d)
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Padma Shri Sudarsan Pattnaik is well
known as a

(a) novelist
(b) golfer

" (c) classical dancer

(d) sand artist

Which one of the following is the correct
sequence of different stages a budget
has to go through in the Parliament ?

1. Presentation of the Budget

2. Scrutiny by Departmental Commit-
tees

3. Passing of Finance Bill
4. Passing of Appropriation Bill

Select the correct answer using the code
given below :

@y
)il S e
(©) 0= — ) =
(A= 2ol

Government of which one of the
following States
Rajamannar Committee to study the
Centre-State relations ? '

(a) Government of Andhra Pradesh
(b) Government of Karnataka '
(c) Government of Maharashtra
(d) Government of Tamil Nadu

Which one of the following was the
mandate of the Dhar Commission (1948) ?

(a) To study the classification of States

(b)

To recommend whether the States
can be re-organized on linguistic
basis

(c)
(d)

To study the Centre-State relations

To examine whether Madras city
can be transferred to Andhra

has appointed the -

19
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Which one of the following pairs of term
and meaning is NOT correctly matched ?

(a) Khalisa : Villages whose income
went directly to the State

Treasury
(b) Mauza : Rebellious territory
(c) Ingm : Land allotted to learned
and religious man
: ‘Territorial assignment given

(d) Jagir
y to Mansabdars in lieu of
salary

In which one of the following buildings
the first extant true arch is found ?

(a) Arhai din ka Jhonpra
(b) Quwwat ul Islam Mosque
(c) Tomb of Sultan Balban

(d) Alai Darwaza

Which one of the following statements is
NOT correct ?

(a) Sharaf Qai was a minister of
Allauddin Khalji

(b) Under Giyasuddin Tughluq Muqtis

were warned not to ill-treat any of
their officials for small amounts
taken over and above their salaries

The Arabic work masalik-i-Absar
gives description of the functioning
of Igta system under Muhammad
bin Tughluq

(©)

Marco Polo has not mentioned
about Pearl Fishery of Tuticorin in
South India

(d)
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Al & ga 118 gofod i sk
gfEt & A @ @ g & v =
H‘Eﬁ?ﬂ?@%ﬂz:

Al T I
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A.T I . T 9. .
UST 3175 ¥ 3¢ 3TeGeT helTd
B.eR ¢ fMadir 2. @iwa wifew
TS HI X 331o—sr€3rl3%€rs=r
C. g fa3rt s o :
i 4. Tomra wiferr

D. Zeifireaa feafke
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A B.E@ D
@ 3 4 2 1
(D) ] 2 4 3
(OMEREE ans! s
(G0 e e

forforfe # & form qur 4, 1 39 2017 &

dg AW Ugfa & &9 9 foewT @t .

amferepTier (3fiomier) &9 & w=r
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(a) SMEM™E

(b) =

(c) USA

(d ¥Ra

frafafaa o=t | fmRr i o
=fh ol Te=T+T '
8 o 19324 uiﬂﬁ@&l%ld%‘vgﬁ'lﬁ
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(a) Fomicrt ARTATE

(b) HSTS FETeRR

(c) foRemT smTHER

(d) TH. UH. GesieHT

foma &R 2t 201731 Torstan frafarfaa
Y HH T ?

(a) STRAGN

(b) FHleH

(c) 3w

(d) g

AL L& g=t 118 gafaa fifg sk
et & = @ T g w1 s 9w
H_E%Wﬁﬁ'q:

Al AT 11
(wffa) (fowz)
A. TR afifa 1. ¥R GaR
B. wRfered wfwfa 2. ST GUR
C. e afafa 3. PSEs# =i
S &1 fafay
4. Sifer &ren
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i) Ok i) 1)
)52 Tk dass
(b) 2B A S g s
()l =Ear A e By
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Match List I with List II and select the
correct answer using the code given
below the Lists :

List I List II
(Book) (Author)
A. The World 1. APJ Abdul Kalam
As I See It
B. How to Live 2. Stephen Hawking
Longer and
Feel Better 3 Albert Einstein
C. The Theory
of Everything 4. Linus Pauling
D. Indomitable
Spirit
Code :
A B ¢ D
@3 4 2 1
(D)l 2 4 3
() 2 4 1
@1 + 2 3

Which one of the following countries has
officially recognized Bitcoin as a legal
payment method since 1st April 2017 ?

(a)
(b)
(©

Japan
China
USA
India

Consider the following passage and
identify the person :

Born in April 1932, she was a renowned
Hindustani classical vocalist. She was
recognized as an innovative exponent of
the Jaipur Gharana. She was awarded
Padma Bhushan and Padma Vibhushan.
She was also a Fellow of Sangeet Natak
Akademy. She died in April 2017.

21
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(a) Mrinalini Sarabhai
(b) Mogubai Kurdikar
(c) Kishori Amonkar

(d) MS Subbulakshmi

Which one ofithe following is the winner
of the Vijay Hazare Trophy 2017 ?

(2)
(b)
(c)
(d)

Uttar Pradesh
Karnataka
Assam

Tamil Nadu

Match List I with List II and select the
correct answer using the code given
below the Lists :

List I IoiStHLT
(Committee) (Subject)
A. Rangarajan 1. Tax Reform
Committee
; 2. Insurance Reform
B. Narsimhan
Committee e
3. Disinvestment of
C. Kelkar shares in PSEs
~ Committee
4. Banking Sector
D. Malhotra Reform
Committee
Code :

(s tets
() 2 Eide it
(O) Bl Al we

(eSS R SR
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Frfeae <& frefataa § 9 form et &
|1, FHT I HaTd foRamerey weig € ?
(a) SHAST: WA qAT FAIR

(b) HFY: WTHE T fgdimen

(c) HH: Jeae qaT fgeae

(d) s T qar wqdfs

RIS TR % AR # frfied & ¥

i |1 YT Ga5l © ?

(a) I8 TH "wd s fafag weeifos
LT o Ueh STfeel STl o STfehg o
®Y H, TN WE Hl ©

(b) =Heh! Gfch 15, hieT TRAR & Teh M1
FI Tl T HI, FIfese FRAt &

(c) =W Wfth 23, AT & @ga @
RTSTI3T T THGEIH GRT feamgde fomer
fora s =1, fofdse o=t 2

(d) ZEeh! dfch 20, TH T T R o G
3R SR MY YT HA el ATER
1 feifdee ot @

W e % R # e 3§ S

HIT el el © ?

(a) =W T & e aw (RifE), e
AT 4 srfereR =T g '

(b) ooy TRToT 3 e T e @
YA ek T | &Rl GHT AT R [0
0 T AT A

(c) wHedr freree o 5ha &ar @ f&

FGH ST WO <k ToAHH b
- Toreg 2T a7 3R A Yot | A TR
STf¥aT &1 Agea femam o

(d) HRTSZ, W THST T fEwar Aet A
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e T T S AR A e § 8
HF T FHAT TEl &Y @ ?

(a) 10 o & 3mg o i wefEAl F
AT~ 2 sraet sfeat & w8 u
FCIRIC ik ars

(b) = SieF. AFw frfEw &

T 80CHeh 3T, X TH & ford
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(c) = Ry fFd ™ =1 W), wfe ad

1500 €92 Tk <6t e UTH B

@ ZEeEar ¥ ufa a¥ srfée @ arfie

62.

1-50 s@ =93 fagr fod s aeha @

forrforfee & & 3 HR S & 8, F s
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1: =ste 61 weqic STim ook 1 TRadl <l
TR, ek feriar e < SFsiTd & HATe™
L o O ) o i G
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T afeh 9 Tl TRER Y ISR
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I @ T % F1 vEN R uE SR
T

(a) el 1 3R 3

(b) oheeT 2 3R 3

(c) 1,2 3R 3

(d) FFT 1 3R 2
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To which of the following sectors of the
ceunony, the activity of agriculturc and
services belong to ?

(a)
(b)

Primary and Tertiary respectively
Primary and Secondary respec-
tively

(¢) Tertiary and
tively

Secondary  respec-

(d)

Secondary and Quaternary respec-
tively

Which one of the following statements
about Allahabad Prashasti is correct ?

(a) It clearly presents the Gupta empire
as the epicenter of a complex web
of varied political relationships

(b)

Line 15 of it refers to the capturing
a king of the Kota family

(c) Line 23 refers to Samudragupta
violently exterminating a number of

kings of Aryavarta
(d)

Line 20 refers to rulers offering
tribute, obeying the orders of the

Gupta King

Which one of the following statements
about the Gupta period is NOT correct ?

(a) Forced labour (Vishti) became more
common than before in this period

(b)

A passage in the Vishnu Purana
refers to the Guptas enjoying all the
territories along the Ganga up to
Prayaga

(¢) The Mehrauli inscription suggests
that Chandragupta fought against a
confederacy of enemies in Bengal
and also led a campaign into the

Punjab

Saurashtra was not a part of the
Gupta Empire

(d)

23
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Which one of the following statements
about the Sukanya Samridhi Scheme is
NOT correct ?

(a) Only parents of girls up to the age
of 10 years can open such accounts
in their daughters name

(h) Contrihutions are eligible for fax
benefits under Section 80C of the

Income Tax Act

(c)

Interest earned thereon is exempted
up to Rs: 1500 per annum

(d) A maximum of Rs. 1-50 lakh per
annum can be invested in this

account

Which of the following are the reforms
introduced in Budget 2017-2018 ?

1. Presentation of Budget advanced to
Ist February to enable the
Ministries to operationalise all
activities from the commencement
of the financial year

2. Merger of Railway Budget with
General Budget to bring Railways
to the centre stage of Government’s
Fiscal Policy

3. Removal of plan and non-plan
classification of expenditure to

facilitate a holistic view of
allocations for Sectors and
Ministries

Select the correct answer using the code
given below :

(a) 1 and 3 only
(b) 2 and 3 only
()28 and 3

(d 1 and 2 only

A — U-GIA-JBOS
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‘Fefed uferhe’ W 3R fore 29 & <,
Tk HYTH 9 AV © 7

(a)

(b) wiferaT

(c) ECREIL]

(d) e

S 9 A Hiol # aTa feffad gert
F W, F AT AR TR ?

(a) TEAEH

(b) ¥R

(c) Gehel

(d) TUeirew

frrferfan sgae (TTemR) § § i T,
A & a1 8 ?

(a) TR

(b) U

(c) &

@ s (ve|d) -

IR IR TAEge ¥ TGO I 6 STHN |
frfefaa @ @ &9 & AT B 2

(a) T < o9an  srifecAaRIEE -

(stfes-gfirea)
(b) sTifEcATARIE a2 51 et fagm
(c) THATHTAT TAT qAT 5 St g
(d) srifecamREe aar e <
7 1984 H, freafefaa # & @F 1 99 &
e & HRO AT 9 AT 88 o4l 7
(a) THam=a smea@ERe
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68.

69.

feret e wR g1 A & forw weRgfy s
3TIR TTETRUT 4TS < S(1¥ &l 3R 60 T B |
e g1 9 & T FreRe =T 1440899 ©,
qA A H R AT S ?

@ 45%

b) 64%
(c): 8% g

d 83%

4, B, €, D, E 3R F = Torelt aten & arom
3eht &hl gomT < 3R @ T foh 4 9
FaEffas s W T, B 9 D @ aftre sie
e fofu, C 9 &9 ¥ o9 3= o | 3Nftr
3ie' e fery 3R £ F gAaw s wme g
T |

ferferfaa ot w faemr Hifso .

: HH Y FHH S Heddi A C ¥ &
31 we fehu |

SIq 1

. E3R F 3 SRR & W™

fer |

39d<h H | i |1 /& AT AT 3 UTH
FA ATl GGE hl 1d aRA o fow vty
8/% 7

(a) 13k 2, cHt

FIT 2

() I @ 1,7 T 2
(c) oaa 1
(d) e 2
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‘Nomadic Elephant’ is a joint military
exercise between India and

(a)
(b)
(c)
(d)

China
Mongolia
Vietnam

Bhutan

Which one of the following artificial
sweeteners is modified sugar ?

(a) Aspartame
(b) Saccharin
(c) Sucralose
(d) Alitame

Which one of the following polymers is
made of protein ?

(a) Rubber
(b) Cotton
(c) Wool
(d) Jute

Which of the following diseases are
caused by the consumption of ‘water
contaminated by mercury and nitrate ?

(a)

Minamata disease and Osteoporosis

(b) Osteoporosis and . Blue.. Baby
Syndrome
(c) Minamata disease and Blue Baby

Syndrome
(d

Osteoporosis and Minamata disease

Leakage of which one of the following
gases had caused Bhopal Gas Tragedy in
the year 1984 ?

(a)
(b)
(c)
(d)

Methyl isocyanate
Hexamethylene diisocyanate
Isophorone diisocyanate

[sothiocyanate

25

68.

69.

The difference between the compound
interest and the simple interest for
2 years on a sum of money is Rs. 60.
If the simple interest for 2 years is
Rs. 1440, what is the rate of interest ?

(@) 44%

® 61%
©) &%

@ 83%

A; B, C, D, E and F compared their
marks in an examination and found that
A obtained the highest marks, B obtained
more marks than D, C obtained more
than at least two others and E had not
obtained the lowest marks.

Consider the following statements :

At least two members

obtained less marks than
@

Statement 1 :

E and F obtained the
same marks

Statement 2 :

Which of the above statement(s) is/are
sufficient to identify the one with the
lowest marks ?

(@) Both 1 and 2

(b) Neither 1 nor 2
(¢) 1 only
(d)

2 only

A — U-GIA-JBOS
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72 km T g0 R feq a1 fergati 4 3R B &
<1 = feh ek GER hl SR FaAd o oIl Teh
qHT R fHehel | TRl Sfth 4 km Wi HeT
1 =Tl § Tl §, STeIfeh GERT Afh T8
Ei%ﬁka,@i‘E@ﬁ Z%km?ﬁ“ﬂiﬂ%ﬁ
3 km =l €, 3% S81 9 3Rl Fadl L&l
2 | Ot =t Tt

(a) Rora

(b) Bl @Er 4 F afers free

(c) A H smEm B & siftres fepe

(d) A 3R B & SEi-s=

T 1 g R Ak AR ek
gt & T R W g W wE a

e IR HAC :

il AT 11
(vt fo=a (7=)
gfasET)
A. BIF giais 1. == Gt
B. €T GRASET | 2. WA et
C. T 9T IR 3. SRS ST
RSt 4, fomme T
D. feegt ufiaisrn
C i
) T DR 1,

@ 2 1 4 3

b 2 L, 3

(@) 3 1 4 2

@ 3 Gt 2

gl I g I E gAfaa g 3R
ghrt & 7= 3 W g w1 o W

F@Bﬂ'{w:
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75

Al AT 11
(arreata) (=)
A. JRA 1. ORI @i
B. #fes 2. leht g
C. Trm=tra 3. GfETuT 3TShTehT
D. AT Ehad 4. Freefern
(et ToH)
®e : |
A FTBe G D

(a) 2y 3 4
Ol & 2 4

(c) 4 3 2 1

@.v 2 3 1
HRT o frefafad 3 @ @9 @ oor e
(SITer SR ) T ST TR YA
‘e < i 3 7
(a) I TR Red
(b) IR TR e
(c) I= TR T
(d) hreeT TR e
gfeat (usi) & & 9 & freafafes &
9 1 oo fommE g @ ?
(a) A
(b) e
(c)aT%HTITT
(d) R (TB)
FHTelfoer Wl o gay § frefafea 3 @ @
T H9F gel 7el © 7

(a) ZEH STERTHG: TIWART SISl
SUANT TR BT ©

(b) @fgerse digshAmelt Sar Saenl @l
IUANT &l {eaT STTaT ©

(c) ZEH TFAGH HEA U BT ©

(d) zow wikfeafas wReft ggiadi o
IYFNT BT ©

Download More Papers From GovtJobsAlert.In


https://govtjobsalert.in/

Download More Papers From GovtJobsAlert.In

70. Two men set out at the same time to

71l

walk towards each other from points
A and B; 72 km apart. The first man
walks at the speed of 4 kmph while the
second walks 2 km in the first hour,

2% km in the second hour, 3 km in the

third hour, and so on. The two men will
meet

(a)

(b) mnearer to A4 than B

in 8 hours

(c) nearer to B than A
(d) midway between 4 and B
Match List I with List II and select the

correct answer using the code given
below the Lists :

List I List II
(Hydro power (River)
project)

A. Maithon project 1. Chambal river

B. Salal project 2. Bhagirathi river

C. Rana Pratap 3. Barakar river

Sagar project
il 4. Chenab river

D. Tehri project

Code :

A B C ol
(@ 2 1 3
® 2 4 Ul

© 3 @ &N 2
@ 73 gt 2

72. Match List I with List IT and select the

correct answer using the code given
helow the Lists :

27

S 3C

74.

7S,

List I List II
(Vegetation) (Region)
A. Chaparrals 1. North America
B. Maquis 2. Southern Europe
C. Fynbos 3. South Africa
D. Malle scrubs 4. Australia
Code :
A B C D
(@) al 2 3 4
®) !l 3 2 +
(c) " 4 3 2 1
(d 4 2 3 1
Which one of the following tiger

reserves of India has ‘Bhoorsingh the
Barasingha’ as its official mascot ?

(a)
(b):
(©)
(d)

Nameri tiger reserve
Ranthambhore tiger reserve
Panna tiger reserve

Kanha tiger reserve

Which one of the following elements is
present in the green pigment of leaves ?

(a)
(b)
(©)
(d)

Magnesium
Iron
Calcium

Copper

Which one of the following is NOT
correct about organic farming ?

(a)

It does not use genetically modified
seeds

(b)

Synthetic pesticides or fertilizers are
not used

(c)
(d)

It uses minimal crop rotation

It uses ecologically protective prac-
tices

A — U-GIA-JBOS
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o7 ¥ =t W A 2 S
THIF T IO SUANT | AT ST B ?
(a) TEGHISR

(b) BIHMHIEX

(o) Femiiex

(d) o

FEn (sr) farg # gan 8 FR
G -

(a) fenet

(b) e

(c) fed

() TgffEm

foRelt ommra it T 60% TS STl € |

ST T & e ST TE o oIl Zheh!
~iters &1 feramt wfcrerd B ws ?

(a) 37-5%
(b) 60%
() 75%
@ 120%
T 9T A 3R B UH AT ohi SHAE
12 e 3k 16 e # R @=ha © | 3fg
ST 91ET T 19 @il T €, o fehd e aHd

F e B Y s foRam ST =fey, dfes geht
9 fie & W Q. ?

(@) 31 fime
(b) 4.ﬁ=raz

(c) 41 firme
(d) 42 fime
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80. T o Teot, T foraT <At S ST I B

81.

82

MY ¥ AR TET A1 | B ANT 6 TG Iqh!

3T (U I T 37 6 G | 9 W ST(Erh
BT | IeIeht T 37T T S T 8 2
(@) 9i:2

(b) 11:3

(e)Fi2i55

d) 13:4

A9 3R @R /HeEnR & fefafaa g
# W hIT @1 el AT & e 7

(a)| HTESE : SHEENKE T3

(b)\ TThcis : 3TEATICh HBTANR

(c) =TE : STRI USMA HETEER

(d) =aE FiAE : feg FEEER

L LA g A Rt g iR

ghEl % 3 R W g &1 e
el IR MY :

iR gt 11
(af=) (wT=)
A. & () 1. AR
B. €U 2. gfea
C. hIHTEC 3, SR
D. 9TR1Ee 4. Tt
eha
A B @ D
() S ) s AR
A s i L |
() et A ) R |
(@) S SO R
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Which one of the following instruments
18 used for measuring moisture content
of air ?

(a) Hydrometer
(b) Hygrometer
(c) Hypsometer

(d) Pycnometer

Bronze is an alloy of copper and

(a) nickel

(b) iron

(c) tin

(d) aluminium

The length of a rectangle is increased by
60%. By what per cent would the width

have to be decreased to maintain the
same area ?

(@ 375 %

(b) 60%

) 75%

d 120%

Two pipes A and B can fill a tank in
12 minutes and 16 minutes respectively.
If both the pipes are opened together,
then after how much time, B should

be closed so that the tank is full in
9 minutes ?

(a) 3% min
(b) 4 min
(c) 4% 'min

(d) 42 min

80. One year ago, a father was four times

81.

82.

- (a) Cyprus

as Uld us his son. Afler six years his age
exceeds twice his son’s age by 9 years.
The ratio of their present age is

@) 9r=2

(D) SSlE=8

(@) 25 &

({ah) ulsh g

Which cone of the following pairs of

Island'and Sea/Ocean is NOT correctly
matched ?

: Mediterranean Sea
(b) Falkland  : Atlantic Ocean
(¢) Chagos : North Pacific Ocean
(d) Islas Cocos : Indian Ocean

Match List I with List II and select the

correct answer using the code given
below the Lists :

List I List II
(Mineral) (Mine)
A. Zinc 1. Amjhore
B. Gold 2. Sukinda
C. Chromite 3. Zawar
D. Pyrite 4. Hutti
Code -

A B TEE D

(a 1 2 4 8

(D)= 2 4 1

(c)E3 4 2 1

el il o 2 3

A — U-GIA-JBOS
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ST 2011 % e, fo sgea (wfa
TSR TEN1 TR @) h ey # AR H qsA
1 TE FERie o, frfofad # @ i &
27

(a) fTSE ST —HET TQYl — JTRIETE —
SE 3R HFR

(b) W WU — Ui SE — S 3R
FHIAR — ITTETS

(c) STRTEvE —UfTaH ST —HEA Wadl —
] SR HIHR

(d) TfTEH e — STRETE —HET Hasl —
T SR HIHR

=1k < g § 53 ST itk e B |

2T HRIT ©

(c) ST TS
(d) W (TET) BrEgie TS
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fopet oreT] e | WieE 3R =il
T A T A A, T A,
frefafaa & & ferem foam 2

(a) ﬁa—émﬁ

(b) T -

(c) IeaTE FEETE

(@) ew e

fopet qe Rt seamTe e, IEd W
Seafofd i R aRafdd 7@t el € ?
(a) el BT 3R sfter ferferzom

(b) Shaet el S T fafeR

(©) S e T B

(d) 3, siter 3R T fafeRzon

2880 1 RS S o A S AT
e e frefifad & ¥ R
(@ 3
() 4
(@) 3
@ 6

e Freiehia TEr 4X3 984 | Sied W
Teh IR 3 ST 13Y7 9T Bl © | Afg
13Y7, 113 fafora 2t &, af (X + Y) &
HIA 47 BRI ?

(@) 15
(b) 12
(&) it

@ 10
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As per Census 2011, which one of the
following is the correct descending order
of States in India in respect of sex ratio
(female per thousand of males) ?

V(a) West Bengal — Madhya Pradesh —

Uttarakhand — Jammu and Kashmir

(b) Madhya Pradesh — West Bengal —
Jammu and Kashmir — Uttarakhand

(c) Uttarakhand — West Bengal -
Madhya Pradesh — Jammu and
Kashmir

(d) West Bengal — Uttarakhand -
Madhya Pradesh — Jammu and
Kashmir :

Liquid water is denser than ice due to
(a) higher surface tension

(b) hydrogen bonding

(c) van der Waals forces

(d) covalent bonding

Which one of the following is the
chemical name of heavy water ?

(a) Hydrogen oxide
(b) Deuterium dioxide
(¢) Deuterium oxide

(d) Heavy hydrogen oxide

86. Who among the following has coined the

87.

88.

89.

term ‘Quark’, the fundamental parhicles
that make up protons and neutrons in an
atomic nucleus ?

(a) Richard Feynman

(b) Murray Gell-Mann

(c) Albert Einstein

(d) Niels Bohr

The mass number of an element is NOT
changed when it emits

(a) Alpha and Beta radiations only

(b). Alpha and Gamma radiations only
(). Beta and Gamma radiations only

(d) Alpha, Beta and Gamma radiations

Which one of the following is the
smallest number by which 2880 must be
divided in order to make it a perfect
square ?

(a) 3

) 4

()5
d o6
A 3 digit number 4X3 is added to 984
to get a 4 digit number 13Y7. If 13Y7

is divisible by 11, then what is the value
of (X+Y) ?

(a) 15
(b) 12
() 11
@ 10
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afe gelt feremef wreeh € R @l Tgeh cieh
2, o Frmfafea § & wia @1 o ffvaa
T W Tl © 7

(a) FAI ik ASh ©
(b) &I weeh feremedi €
(c) ¥ Aecien ferma €
(d) @ fermdf T €

T 2017 H, ARG H U S - gRI,
frefafaa # ¥ o 1 afeat = asta 7

it o1 gt feam w2

92.

(a) SEIIA ST TR
(b) T SR ZHT
(c) T AR M=
(d) FoU SR BT

et g 3 s o et & A

T FHIT el wal © ?

(2) WA & ffeyr arae & SR Hgarl
HETETE! 3R JdATE! RA <l It
et wEe #, faEt us oafth
e sfus @ e F© °Ih
wfereht GRT R T SHfEhR () T
STTE 4T, S 30T o AT b ol
IR Bl A

HeTaTe! aedl |, FHiT i TWER
) (QTEERE) BT At

YCATE! SAFEAT W, AT el
e SyfiT ST €T SRR B T 3R
I T AW & fag HiE
SeerE B 4 ’

(b)

(©)

(d)
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st Rt & afig o o, PrfoRea 3 @
el 1 s ol | LA

1. st et |
2. E=3 3R e ed 5 |
3. 6% °hl THgI Tl |

4, IoIEHTCSEE TG STet TRt AT
20°C & 21°C T B |

= f@ ™ e &1 T A el K
(a) @ 1, 2 3R 4

(b) e 2 3R 4

(c) FAw 1 3R 3

@ 1, 2,3 3% 4

Srefirm wew, Frefean # & fr 3
FRF T ?

(a) TommATET

(b) TE-TR

(c) it

@ = =it g

rgHEd | e <t saferfd Heeaqu &,
ifer a8 &g ol &

(a) REREI-A 3R WRIET-B feferor
H

(b) el TRTeTHT-B farferor =t

(c) e srEReR-B fafeRor @

@ fwfa os-B fafeor sk smma
RS- A forfeReor <t
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If all students are boys and all boys are
dancers, then which one of the following
statements is definitely true ?

(a)
(b)
(c)
(d)

All dancers are boys

All boys are students

All dancers are students

All students are dancers

In March 2017, a High Court in India
had accorded the status of living human

entities to which two of the following
rivers ?

(a)
(b)
(c)
(d)

Brahmaputra and Ganga
Ganga and Yamuna
Yamuna and Godavari

Krishna and Kaveri

Which one of the following statements
about land tenure system is NOT
correct ?

(a) During the British rule in India
three categories of land tenure
system, viz. Zamindari, Mahalwari
and Ryotwari were introduced

(b) Under Zamindari system, land was
held by one person or at the most
by a few joint owners. who were
responsible for the payment of land
revenue

(c) Under the Mahalwari system, the
agricultural lands belonged to the

Government

(d) Under Ryotwari system, the
individual holders had the permanent
rights over land and were directly
responsible for payment of land

revenue

33

93.

94.

9s.

Which of the following are the necessary
conditions for the growth of coral reefs ?

1. Photic conditions
2. Clean and sediment free water
3. Sea salinity of 6%

4. Tropical sea water with temperature
of 20°CNigp21“C

Select the correct answer using the code
given below :

(a) 1, 2 and 4 only

(b). 2 and 4 only

" (c) 1 and 3 only

(@ 1,2, 3and 4

Which one of the following diseases is
caused by Cadmium pollution ?

(a) Minamata
(b) Itai-itai
(c¢) Fluorosis

(d) Blue baby syndrome

Presence of ozone in the atmosphere is
important because it absorbs

(a) ultraviolet-A and  ultraviolet-B

radiations

(b)
(c)
(d)

ultraviolet-B radiations only
infrared-B radiations only

outgoing ultraviolet-B radiations and
incoming ultraviolet-A radiations

A — U-GIA-JBOS
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NPP (2 wrzadt wiefFefet) / (s wafe
ITAGHAT) FHel F=aaH eldl © ?

(a) STHCEEE ae

(b) GG ()

(c) &

(d) I SR ATST ATet i

fepet weper ST (ECSMST) & Ik 6aTd o
TR T o AEATT FAT FEATl © 7

Teh TUET ®, 25% ¥l T H I
BU 3R 12% ST 7 SRt 8T | A 10%
et g fawat # ergiv gU R 292
st qEt fersat § o (SAO0) gY, Al
wier # S 9T wo srefdal A aer
freafafea & & @t €@t € ?

(a) 300

(b) 400

(c) 460

(d 500

A N AW T 5%, B FLAA F 15% &
WER 8, 3R B A AW F 10%, C &
AT & 20% & WK @ | gfe C i sma
2,000 €A ®,«q 4, BER C & Fa
3 feet € 7
(a) 20,000 T
(b) 18,000 &
(c) 14,000 &
(d) 6,000 &I
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100. afg n OFTCHS HEATH H IUHEA T

101.

102.

(afdr) B, dt A A8 @
(a) Ueh EFTCHS JUTich

(b) ¥ fagmz

() nﬂ-% & SRER
(d) n 9 BT e el

THERE &7 & o) | Fafafeg & &
& Q. HIT Tl B 7

1 TR U Hel A (A o) &7 T |

2. A% TH FEIU & © |
3. Ug = gfg 1 TE &7 ¢ |

4, 5 SRRl wHERaren (TR
TEIACIEH) T & R

I ¥ @ Fe W TN R O"El S

T

(@) 1 3R 4

(b) Fad 1 3R 2

(c) 2,3 3R 4

@d 1,2 3K 3

femmerm % R ¥ Frafafee & @ 9 @

FIT TEl At © ?

(a) ﬂ@wm(wmm).%

(b) I q-Sif¥mfed wEE T

(c) feuwrem & s v (fewemm ®ea
wiced, HFF) feaem @ foea &
FT HA ©

(d) &y sk gt wieat fewres H gdedf
FUETE ST ©
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NPP (Net Primary Productivity) is highest
for

(a) tropical forests
(b) swamps
(c) reefs

(d) woodland and shrub land

Study of a single species and the
environmental factors in its habitat is
called

(a) Genecology
(b) Synecology
(c) Autecology
(d) Ethologsl

In an examination, 25% of the
candidates failed in Mathematics and
12% failed in English. If 10% of the
candidates failed in both the subjects
and 292 candidates passed in both the
subjects, which one of the following is
the number of total candidates appeared
in the examination ?

(a) 300
(b) 400
(c) 460
(d) 500
5% of income of 4 is.equal to 15% of
income of B and 10% income of B is
equal to 20% of income of C. If the

income of C'1s Rs: 2,000, then what is
the total income of 4, B and C ?

(a) Rs. 20,000
(b) Rs. 18,000
() Rs. 14,000
@ Rs. 6,000
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100. If the product of n positive numbers is

101.

102.

" unity, then their sum is

(a) a positive integer

(b) divisible by n

1
(¢) cqual to m+ =
(d) never less than »

Which of the following statements about
the Equatorial region are correct ?

1. _It is a rﬁegathermal region

2. It is a sclerophyll region

3. It is a region of high development
4. It is a region of aerial streamlets

Select the correct answer using the code
given below :

(@) 1 and 4
(b) 1 and 2 only
(¢) 2,3 and 4

(d)= 1502 and" 3

Which one of the following statements
about the Himalayas is NOT correct ?

(a) They are young fold mountains

(b) They have geosynclinal rocks

(c) Himalayan frontal faults (HFF)
separates Himalaya from Tibet

(d) Indus and Sutlej rivers form
antccedent drainage in [limalaya
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Which one of the following is NOT a
favourable condition for occurrence of a
thunderstorm ?

(a) Conditional and convective instability

(b) Adequate supply of moisture in the
lower atmosphere

(c) Advection of cold dry air in the
lower troposphere and warm moist

air in the upper troposphere

(d) A synoptic situation of low level
convergence and upper level

divergence

The ecological niche of an organism
relates to

(a)
(b)

specific habitat of the organism

symbiotic relationship with other
organisms

(©)

diverse occurrence of a species
- under different conditions

its interaction with all other

organisms

(d)

Free swimming macroscopic animals in
an aquatic environment are referred to
as

(2)
(b)
(©)
()

Plankton
Periphyton
Benthos
Nekton

The term Biomagnifications is referred to
as

(a)
(b)

increase in the body weight

uncontrolled © growth of harmful
organisms

(c) accumulation of increasing amount
of non-degradable pollutant through

food chain

increase in the number of bacteria
m a culture medium

(d)

37

107.

108.

109.

Which one of the following statements
about air pollution caused by diesel
engines is correct ?

(a) It produces large quantity of carbon
monoxide at lower and high
temperatures

(L) It produces laige guanlily of nitro-
gen “oxides at lower and high

temperatures

(c) It produces large quantity of carbon
monoxide at lower temperature and

nifrogen oxides at high temperature

(d) It produces large quantity of nitro-
gen oxides at lower temperature
and carbon monoxide at high

temperature

In an election which was contested by
two candidates, X and Y, 4000 votes
were polled. Suppose that every vote
was polled in favour of either of the two
candidates. Candidate Y got 40% of vote
polled and was defeated. What was the
margin of defeat ?

(2)
(b)
(©)
@

500 votes

800 votes

1200 votes

1600 votes

The average of 7 consecutive odd

numbers is M. If the next 3 odd
numbers are also included, the average

(a) remains unchanged

(b)
(©)
(d)

increases by 1-5
increases by 2

incrcascs by 3
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fFear
ST e R U i B B S R L
frfir eI /8= | o9 9ut & qRe ey
(Et IS 'l H)
FANT /& v
2005-06 | 2006-07 | 2007-08 | 2008-09 | 2009-10
BLEAES
femor 740 800 470 440 810
EEG] 500 520 600 650 800
BEl 420 480 500 600 750
oo 440 500 550 600 660
Ee] 800 | 900 980 | 1110 | 1080
110. 2005-06 & 2009-10 ek S &= # fraisr #
feram wfera afig &2 ?
(@) 30%
(b) 40%
() 50%
(d 60%
111. f¥u s awf &, = &= & i av sfiea

112.

oty v 2 (3t s et ) 2 |
(a) 490
(b) 550
©) 580

d) 670

freaferfaa & & f5g vH ad & SR, F
fraar srftreram & ?

(a) 2006-07

(b) 2007-08

(c) 2008-09

d 2009-10
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116.
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Direction :
The next three items are based on the
information provided below :

Investment in various industries/sectors across
five years (in Rupees Hundred Crore)

el 0506 | 200607 | 2007-08 | 2008:09 | 2009-10
industry/sector

l\d'lnnf'wmrinﬂ 740 {0N A70 A4n g10
Electrical 500 | 520 | 600 | 650 800
Services 420 | 480 | s00 | 600 750
Mining 410 | s00 | ss0 | 600 660
Others 800 | 900 | 980 | 1110 [ 1080

110

111.

112.

. What is the percentage increase in
investment in the Electrical sector from
2005-06 to 2009-10 ?

(a) 30%
(b) 40%
(c) 50%
(d 60%
During the given years, what iS»the
average investment per year for the

services sector (in Rupees Hundred
Crore) ?

(a) 490

(b) 550

(c) 580

(d) 670

During which one of the following years,
was the total investment maximum ?
(a) 2006-07

(b) 2007-08

(c) 2008-09

(d) 2009-10

113.

114.

115.

116.

Which one of the following is a major
effect of long term consumption of
drinking water containing little (Iess than
0-5 ppm) or no fluoride ?

(a) Cavity of tooth
(b) Erosion of nail
(¢) Deformation of bone

(d) Mottling of tooth

Carborundum<is used as an abrasive,
because it :

(a) “has high thermal conductivity

(b) ‘has low coefficient of expansion
(c) has high chemical stability

(d) 1s extremely hard

Which one of the following is NOT
decomposed by bacterial action ?

(a) Vegetable remains

(b) Plastic materials

(¢) Animal carcasses

(d) Wastes of flowers

Two positions of a dice with 1 to 6 dots
on its side are shown below :.

If the dice is resting on the side with
three dots, what will be the number of
dots on the side at the top ?

(@ 1
(b) 1ors

‘(c) 5

(2RO
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117. Fe smafa W fmmR i H :
A B B A B C D
AR e
u ‘ P ©) o A
' (O)a il Bl Ao
@ 4 1 @2
D G c
SR T T TR H, U S S A ARl 120. = 1 1 &= 11L& gAfaa Hifg sk
g, & wen foaaet @ 2 (fem o € 6 gl & @i 3 T Fe # o a
ABCD U a1 & 3R E, F, G, H 38! HTit el IR AT
%Hw%@%) : H:‘""\TI
(a) 14 (XTsdrr F=Ie)
Sl A. Fisie
(c) 20
B. SIRT =N
d 21 '
| C. St
118. frwfofad den ) FeR S : D, ST

n = [(6374)1793x(625)317%(313)%]
ﬁmﬁ%aﬁ%aﬁﬂm@m, na??{ch'fi ‘
H W g ?

(a)
(b)
(©)
()

119. =t I g 11 & gAfaa Hifw 8k
gt & = G ™ FE w T W

E@Wﬁﬁ"l:

wnm N = O

G&id | il
) (W), AL B ERED
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117. Consider the following figure :

A B B
H I
D G (©)

What is the number of rectangles which
are not squares in the above figure ?
(Given that ABCD is a square and
E, F, G, H are mid-points of its sides)

(a) 14
(b) 16
(c) 20
(d)=21

118. Consider the following number :

n= [(6374)1793x(625)317x(313)49]

Which one of the following is the digit at
the unit place of n ?

(@ 0
b) 1
(C)RE2
d 5

119. Match List I with List IT-and select the
correct answer using the code given below

the Lists :

List I List IT
(Bird Sanctuary) (State)
A. Sultanpur 1. West Bengal
B. Kulik 2. Haryana
C. Nawabganj 3. Uttar Pradesh
D. Attiveri 4. Karnataka

Code :
A B €. D
) 2 1 3 4
(D)2 3 1 4
(@) 3 1 2
@ 4 | 3 2

120. Match List I with-List II and select the
correct, answer ,using the code given
below the Lists :

List I
(National Park)
A. Corbett
B. Neora Valley
C. Betla
D. Kanha

List II
(Location in map)

AL BUNIEY EiD
(a0 = e et
(b) ey =l gl L sy
()R A o
(@A s e e i
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121. Frafafea st = fEw i

1. 250 cm @ 3rferes s aret &=
2. =ftfer QT 25°C - 27°C
3. 3ftea ITSAT 75% | e
4. g1 T o & e

Tl % frefafe weri § |, @i a1
TS IIRTH T W AT & 7

(a) SOIHCSET T G
(b) SwHfesEt sref FETil
() ITHTESET 3% TorTl
(@) SRS sk gEv
WG A SRt % gey A ettt
FAFHAFAT AR S 7
1. 9TE SN SR el 3R STRavs
A qrh STt ©
2. m,ﬁaﬁ(gﬂﬁmﬂwﬁlﬁ%mﬁ
T ST ©
43.mﬁmmmﬁ1ﬁvﬁmﬁvrﬁm?ﬁ%

4. T SETRET ST AR RIHI, AT
fermae TR 3 SETa UYERE ©

= 3 W g @ TN W TE SK
3fa

(a) et 1 8K 3

(b) Faw 2 3R 4

(c) a1, 2 3K 4

@ 1,2, 33K 4
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123.

124.

125.
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F w9 A W ST S ©
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9
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(b)y o 1 3R 2
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@ 1,2 3R 3
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HEMY T eI © 7 -
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Consider the following statements :

1. Areas where rainfall exceeds
250 cm ‘

2. Annual temperature 25°C — 27°C
3. Average humidity exceeds 75%
4. Trees do not shed the leaves

To which one of the following types of
vegetation does the above represent ?

(a) Tropical wet evergreen
(b) Tropical semi evergreen
(c) Tropical moist deciduous

(d) Tropical dry evergreen

Which of the following statements
related to tribes in India are correct ?

1. Tharu tribes are found in Uttar
Pradesh and Uttarakhand

2. Irula, Chenchu and Sumali tribes
are found in Kerala

3. Garasia tribes 'are found in Goa

4. Gaddi tribes are nomadic herders of
Jammu & Kashmir and Himachal
Pradesh

Select the correct answer using the code
given below :

(@) 1 and 3 only
(b) 2 and 4 only .
(c) 1, 2 and 4 only

@ 1,2, 3 and 4

43

123. Consider the following statements about

‘Ring of Fire’ :

1. It is also known as circum-Pacific
belt of volcanoes

2. It is an aective seismic zone
3. Itis azone of divergent plate margin

Select the correct answer using the code
given:below: :

(a) 1 only
(b) 1 and 2 only
(¢) 2 and 3 only

d 1,2 and 3

124. The Bum La Pass is located in

(a) Sikkim
(b) Arunachal Pradesh
(c¢) Himachal Pradesh

(d) Uttarakhand

125. Which one of the following is located at

the southernmost latitude ?
(a)‘ South Africa

(b) Australia

(c) Chile

(d) Polynesia
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SPACE FOR ROUGH WORK
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response, which you consider the best. In any case, choose ONLY ONE response for each item.
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